BhE
LEILIKA

IEHTE A IR A F)

A BRI S IR A S HARST MACHINERY CO. LTD.

HARST MACHINERY CO. LTD.

http// : www.zjhstjx.com



2 B & 9t -

IR HNIHERAE (EMERRAF) . BT T1999F A Fiadkz
HMANFHI LR, 2487 SHERC000F K, BEAEMMAS000FET K. AFAEE
HiE: AR, HEOFEBEFR. SERS. BATERS. FHFRAE.
mMMRMemEFE., AdFNBEFRE, BRXFE, AoEFR, LN
EEOHLE, OESE., SE. WEXERTFH R, EREKRENFHF
REGERLZBERR,

FRUEEN, 5. SREZLE, HABERE, xXmIH0, B
EHEMIE~EUREFR IEEENRS®. ARHEFESEAHAMNITESR
MR, IEZEMNEFIZREARMNERNME, #RXRRERFLE, BERE
EURESEEHIFEASET,

AFRFERRHE, HESE, SIFER, DafitiaR, SBHMNE, &
HEHES, BiEATXEPES.

WAFSmilEES, ERENER!

REFRE

3

EERWE R
"y




AW HIGH SPEED HOLLOW POWER CHUCK

—FHFRERY— —E MRS — “MeER=mhF&E

=T o ) R M
1

. 2-JAW HIGH SPEED

. HOLLOW POWER HYDRAULIC
A0y SOFT JAW
Q! CHUCK

el £ 1ol

=N EE S E DR

3-J4W HIGH SPEED
HOLLOW POWER 10
CHUCK

mE E s R ABEWM
E'Ejrw HIGH SPEED y
HOLLOW POWER HARD AW

GHUCK
oy [l & )

s bR o o P i 12K04.05 B 12K0B.08,10,12 %
A (J t'v% CONNECTION

2-J4W SOLID PLATE
POWER CHUCK -

&

& {3/ UNT:mm
< EHRRET
ﬁ_ﬂf;*?;?il h+& Hose Of D K M

Spindle

3-JAW SOLID

POWER CHUCK E%ﬂ %?‘i = - 4-M1081.5P . 14
- &,

Al B1513 4-M1DK1 5P 15 14

Arl BZ.563 E-M10K1.5F 16 20

ArBA-E] 10E.375 E-M12x1.75F 18 25

EMHEFHFE PE(E YT
B B A BiA-B) 138.718 E-M1Ex2P 23 3o
HOLLOW ROTARY Al 139.718 E-M1EkZP 25 30

3-JAW SOLID FLOATING
POWER CHUCK g HYDRAULIC CYLIMDER

WILEE HETE

Thru-Hloe  Plunger

[Diameter] Stroke
{mm} {mm)

TR FaE A+ & 2 5 (B 5% hE
[RH | M3zx1.58 E 26
LEVER-TYPE CENTER SOLID ROTARY ¥ M20x1.6F [ a3
FLOATING POWER CHUCK ¥ HYDRAULIC CYLINDER -

- _ . 18 M55 2P 20 . 45

0.5 MEDxZP 30 52

B1.5 471 . =10 6 3. MES3ZF 40 T5

m]iii-ﬁm *Eﬁﬁqﬂ B1.6 5E.3 - z8 2 MA0DxZP 50 . 21

- o]

FIXED VERTICAL RATYPE SOLID MiTHE * Mgz

POWER CHUCK ROTARY AIR CYLINDER [z BNERER ﬁﬁﬁﬂ" lmnnni%:gmﬂg AEER ﬂggﬁl HIFEE

- d Stroks F X 3 Gripping
(Gametm TGO ) g Manng RIS

() it kglem®  [Mpa)

2000 920 g 130 gy 155 (1.5 E TK-a28 oT-2110

EMmATRAAFE
:
3-JAW FRONT-MOUNTED : _ B =) ’ TH-EaE a13-atas
F-GWER CHUCK s ET10 (56 T TK-B52 213-a210

o000 340 i23) 13 (1.9) . TH-EI8 210-a135

5000

4700 T4L0 (73] 1.8) TH-1075 230-a254

3zon SEA0 (EE) B) TH-1281 235-a304




OMESEFZEHNNFE

03K04.05 8 03K06,08,10 128

EHBEET
Epndla Mose Of K
F - - - - X 2 U101 5P - Spindle
61413

3-M10x1 5P A-S

82 563 15 45
[PETH

4-M10x1.5P
bt A-BAS) 106.375 17 52 4-M12x1.T5P

AEIAE) 108,375 B-M12x1 75P E
A-BiAE] E 139.719

G-M1Ex2P : : A-BA-8) 139.710 18 75 4.M16x2P
139.718 5 B-M1B22P 4 A-B

139.710 18 3 9 4-M16xZP

M P Q R w X W

Midet 5P
[P F : 20 3225 296 312 M55x2P 75 73
e 25 391 354 : 35 14 MEOx2P 385 95
oo 30 §1.5 47.1 40 18 MBSx2P 43 110
a4 ; 18, P

[

an

A0 616 56.3 ] -15 50 21 M100x2P 51 120 -
a3 an 2 £ 2 2 2 e a1 2

u BiTH T = 4 2 Brag E AANE EITH MAW BEREEEA xih BRSNS £l
AhNE uEw Lot R B # ‘E i : fam

EHEE

Qrigging
Ranga

R
ungur lax. Oripging Whight AELRS
ke i Fre i i
e [Glumeter gt war ™ km) aa Muiching

Thru-Hise
s BEED amEus T
i Prigaim iy Maiching anga i)
e} L g thiga) i Cyndar

E 24 (2.3) TH-42E

i 45 12 55 1830 (18) 4180  (41) 14.2 TK-G46 el2~p160
28 TH-558 ati-a1as
B e TR 52 16 T4 2440 (24) 6010 (59) 245 TK-852 e25-a2il

2.8 TH-Ba% widma2ii 75 19 8.8 160 (31) 8050 (79) 381 TK-1075 e28-p0254
Lk - il ) Gilatilel 9 23 10.6 4080 (40) (102) 60.5 TH-1281 @d5-o3ld4

i2.8) TH-1201 FECENETT




AW SOLID POWER CHUCK

ML NFE

EHREES
Mose Of
Spindle

D E

Anb

82.563 15

Bl A-BY

106.375 17

b B e B

138.718 18

A=l

139.718 18

6-M10x1.5P

36

6-M12x1.75P

36

6-M16x2P

36

6-M1E6x2P

a8

miTHe

[8

Jzw Sirska

[Diareitir]
I

anEiEE

e, apaid
Ep e

M16x2P

34

8.5

5s000

MZ0x2 5P

kL

8.8

4000

MZ0x2 &P

45

EE]

3500

M20x2 5P

50

120 10.5

3000

BEEh
Max publ Forca
kN

BEmEmn
M. Grippisgy Forea
kgl [LLh

BEiRESHEESD HEAEIRS
Mae, My Praiser Mitehing
hglem' [Mpaj ) Cylin dar

ELEL]
Qeipping
Ranga

1220 (12)

3460 (34)

17 (n RH-100

ol-p165

1830 (16)

4980 (49)

16 (18] RH-125

e12~a210

1930 (19)

7140 (70)

18 (1.9 RH-125

a15~a254

2750 (27)

10300 {101)

20 (2.0 RH-150

820 ~a30d

ZEMPLEAFE

EHREET

Hose Of
Spindle

=

[CL-08]

63.513

3-Mex1.25P

42563

6-M10x1.5P

106.375

G-M12x1.75P

139.719

G-M18x 2P

139.719

G-M16x2P

O 3

a

P

R

30.4

212

171

K

9

10 M12x1.75F

62

ire

33.25

1581

R

101,

L] - 12 M16x2P

a9

73

46.3

41.9

224

10.1

127

14 M20w2 5P

42

95 -

51.4

ar

306

9.6

158

133 16 M20x2 5P

L L]

10 104.8

60.7

£5.45

48.6

12.6

163

133 18 ] M24x3.0P

54

120 133.4

= miTi
gwive [T

Plunger
Stroke

(mm) =

Hiz]
daw Stroke
[Diameter]

B EEE
max. spesd
Lpom. (minc

s ib] WM ERD

Max pull

mriEE

Max Gripping AEEH il
Foroe Mlax. Hydr. Waight

kgt (L] Prassure kgl

kgiem®  [Mpa)

A
aENES
Matching

Cylinder

RIFTEE
Gripping
Range

15

6.4

5500

B0 g 2450 (24) 25 12.5) G

RH-80

of~-a135

20

4.5

S000

5200 (51) 25 (28 114

RH-100

o18~a185

21

8.8

4600

7440 (73) 25 (1.8)

RH-125

@12~a210

25

a8

4000

10810 (108) 20 (2.8)

RH-125

o16~a254

30

10.5

3200

15500 (152) 29 (2.8)

RH-150

o18~a304




=MpsiFa~& - =Sk pseiFani
L 03F/3F-A
* REHMETHAE | LI AR as £5 58 — Fein TAHRIE AT

o FEIEMI A THEEE RS, B S0 /SN tha] LT EERT S : * BMNTHmAEAFE.
ZEInI. « Bk EEEIREEAMETER , S NREEARRME  BlEe/EaE

ThskEoRp s TR, L R R B OT i R TR 2

TR MEEENERTER , MEoERER . % L » Special chuck for machining shaft.
(MR EmEE AN ) # Requirad to use spring center when end face distance limited, the clamping jaw have tha

function of back pull clamping,hence can get high precision.Can use fixed center when have

o ERETR ¢ RO R L o T R R o 1 0 L e AL - i relialion oF Eils
(TERE , REREOH ) )

« With compensation function, based on &xis can ensure high precision when in the second order process.
# Eapecially advantage of machining axis type warkpiece like forging, ete,and also can process second _
process based on axis which outer diametar irregular.
Cantartype DIFOEAS
= Spring center:required axial dimension from end face weed when have high expectations for centering. AAFORAE
{guarantes end face vertical height) BAF1DAS
® Fixed center especially used when based on centering, reguest high precision and powerful cutting process.
{regardless of end face,only when required of centering)

B{YUNT:mm
HEITR  TUTRINE EBEE | B ] WEERES M AL MAEREN

Plu“?;:nsllm“ E’;:'ﬂr:‘:fl’ cnuck.tr:'?"?.ammnr Max_ Clamping Farce Max Speed Matching Gyl Max pressure

mmj B AMan, th\Min gt (KN min[r.p.m} Mpaigtiom?]
25 4 52.4(5350) 5000 RH-100K RA-170  3.0(30),0.8(6)
25 7] 52.4(5350) 5000 RH-100K RA-170  3.0(30),0.8(6)
EX 58 74.5(7600) 4750 RH-125 RA-220  2.0(20),0.4(d)
35 58 74.5(7600) 4750 RH-125 RA-220  2.0(20),0.4(d)
.5 75 107(11000) 3500 : RH-150 1.7017)

S/ UNT:mm .5 75 107(11000) 3500 E RH-150 1R

L1 L2 M o 9P T T2T3 W X D1 D2 F G G

A, L O

a1 o6 17 44
a1 . 17 44
@1 . 25 58

80 104.8 B-m10 MiBx2 31 38 47 52 388 353 165 6 5 104 10 B0 27.5

100 1334 6-M12 M20x25 35 38 505 305 555 438 388 21 755 104 10 7O 30

5
5

254 220 5 110 1714 B-M16 M20x25 40 38 57 57 62 488 438 275 8 5 127 12 a0 33 1 25 g
5

125 171.4 6-M16 M24x3 50 46 61 61 66 508 458 305 955 127 12 85 38 100 36 73
100 36 73

34 220

PrieE  RiTREE] HERE ERERE EMZ  BEEAENHmn EARLOEKN BARESD

Sevration pitch  Jaw Stroke  The clamping diameter  Maiching Gyl Compensation  Max Speed Max D pull Max Gripping  Weightikg)
{Diamater) ol Mink xr o e K

1.5%60° 7 13 15 RH-100 2800 11.8 215 16 T
1.5%60° 8 18 18 RH-125 2800 17.7 41.2 25 T
1.5%60° 10 52 2 RH-125 2400 235 58.8 M20x2.5

1.5x60° 10 73 22 RH-150 20.4 735 M20x2.5
M20x2.5

M20x2.5




AW FRONT-MOUNTED POWER CHUC

BN FE ZMaENANFE

« RESE Internal air eylindar

 AEHEL S EN R IHREEANNTZSE E o BEED , BHE6barfts S HhiRx Hti-ﬂh If.lal‘nping force aven Bbar,clamping force
slill strong

« ERTEENTH . § / * REREE Quick and aasy installation
« TTPANFEAN . : « RERSFHFRE Easy to iniar.l::hanga with hand chuck
il - IBIER Easy operation

& The built-in hydraulic cylinder provides more processing 1 * REEEEHFIEEN | TR RRLTRE g;'z;;:’z'}';:’:;ril:E:L::f:nr:;ar::g;1"“’” can

space for compact design
» Suitable for long workpleces

# Can adds-on fan

H

62 25 E-Maa1.25P

73 31 E-MExi I5F

as 25 a5 E-MBxi I6F

10 an 40 E-MExi 26F

UNT:mm i 5 -
P WALAE ERER i TR
M Thru-Hloe Bision Aras PlungerStroke Jaw Stroke
|I:I»:m|j1|nr| tomé ) {mm) (Diametar)
T mm) (mmj

PCDa118 . 26.93 20.08 ; 16 74 10 4.6

LY J L18] G M ! bR

208 21 95 15 73 ¥ A Mg L PCDa147 ; 36.48 21.88 21 120 13 55

248 36 an 106 15 a5 42 as na 230 25 11
PCDa185 . 44.92 20.55 30 180 16 &8

300 254 50 43 110 16 110 46 40 Mi0 280 30 1%
FCDa220 3 5383 36.55 43 280 14 8.0

#EHKaR) EHosar FeMLARIR B o k*‘f‘ﬁ“ ' BREREN e SR SEMEN
Glamping Force (Hgf) Jaw Stroke Dameter. ucking diameter (mm) w 4
Prieumanc Shar {mem) B Fohax_ jmm) el shdin. pmm) Man_Prneumatic pressure (har) Tor&la Max.Speed M‘fffsﬁm? Gripping Force zﬁﬁ;‘ #il

m ik ml r.p.m.{min ') kgicm®  (Mpa) :gl;nu Pressure nmrcm';:mmnaj Range

2140 52 168 23 7
{8.8) 180 7 (0.7) 1340 (13.1) od-p 136 10

3300 6.3 30 7
6.3 50 7

(9.8 150 7o 2330 (22.8) 8250166 16.6

(0.8 120 T om 1730 (36 5) 053-2215 306

{0.8) 100 (0.7 5480 153.7) a43-a255 45.1




Pitch 1.5 BEGEE

B{UNT:mm {8 UNT:mm

- o - #iE
- Eﬁﬁgﬁﬁn B R0 Sﬁﬁlﬁrﬁ‘ﬁn Wakghtikg) Retumﬁ?ﬁ:\mng

MBx1.25P 1.5x607 042 M8x1.25P 1.5x60° 0.4 M2 Fig?
MBx1.25P 1 5607 ¥ Max1.25P 1.5x60° 0.4 @2 Fig2
M10x1.5P 1.5x60° 3 M10x1.5P 1.5x60° . Fig.2
M12x1.75P 1.5x60" y . M12x1.75F 1.5x60° i Fig.1
M12x1.75P 1.5x607 ! . M12x1 TSP 1.5x60° . Fig.1
MIBx2P{M14:2P)  1.5x60" \ [ M1Bx2P{M14x2P)  1.5xB0° . Fig.1

OG0

A

CONMECTION PLATE

Tﬂ;'—J gg 'EI T-HUT H-2Fig 2 Be3Fig 3

B/ UNT:mm_

Refarence Drawing

-1 Fig.1
x| Fig 1
-1 Fig.1
-1 Fig.1
-1 Fig.1

D

SEE
Referance Drawing

63.513 -3 Fig.3
82.563 f [B-3 Fig.3
63513 - o Fiag_z
106.375 Ba s
82,563 E-2 Fig.2
139.710 e g
106,375 w2 - is_g.z
106.375 mo Fig.2




BhE
LEILIKA

B T A i DS
. ST Al e e

(E'-'J F1 F2 G 61 H J N

a0 - B-Max1.25F B-M3x1.25F 40 M33x1 5P 28 &0
100 6-MEx]. 8P B-M10x1.5P B-M8x1.25F 48 MaZx1 5P 36
100 6-MEGx1P 6-M10x1.5P  6-MBx1.25P 65 MS55x2P 46 80
130 B-MExiP 12-M10x1.5P &-Max1.28F 70 ME0xZP 52 91
160 6-MEx1P 125 12-M10x1.5P G-MBx1.5P 95 MESxZP 75

P1 aQ a1 Ri 51 T T U

T4 4-MSx0.8P(PCDo83) & 103 PT3E 106 &
T4 4-MSx0.8P(PCDoBA) 10 103  PT38 115 &
90  4-M5x0 8P(PCDoSB) 10.5 121 PT38 125 &
[
4

102 4-MSx0.8P(PCDo110} 105 137 PT38 140
126  4-MS5Sx0.BP(PCDo185) 10.5 165  PT3/8 170

w wi xi oESEN. ; mmmms ZBAS
5

)

Lpm e
-1 25 M3%x1 5P 32 000 80

-4.05 24 Mddx1.5P 42 2000 105
-4.85 25 M5241.5P 50 125
-4.95 25 M58x1_5P 56 150
-4.05 25 MB4&xZP 175

ERER
iR BEBMES Fislon Araa [ea? | uafl::\tp-snl.;g;fm

il Luakige Rata l‘l’...PI.f*ﬂ' LBt ] #HhHM W A EPush Sige i AWPuNEide
ilimis| by (M Push Bidu Pull Sida [ NI e (KB

3.0 40 (3.9) 53 48 2100 (20.5) 1900 (18.6)
3.0 40 (3.9) 70 B8 2500 (24.5) 2400 (23.5)
3.0 40 (3.9) 100 80 3700 (36.2) 3200 (31.3)
3.0 40 (3.9) 5400 (52.9) 5000 (48.9)
4.2 a0 (3.9) 180 7200 (705) 6500 (63.7)




A o=
(% /"% RA TYPESOLID ROTARY AIR CYLINDER

o SE[E] 4 EL RAZY L A4S T

= EEEEESERRT . EEEEESAEERTE | RO R RS s,

« SRS SEETE  NETHEEEE OFE | IR | ETTE
EHs  (EER.

* {F B R R R

*EREEFERESR.

» The rotary valve body is specially designed to reduce the consumption of compressed
air and make full use of the efficient economic benefits.

= Special light aluminum alloy manufaciuring. internal components adopt imported original,
«can rotate high-speed, operation balance, high life, low inertia.

# When used. mix in the mist.

# Can be customized according to customer's requirement.

P11 A
R Drainpon

B{/UNT:mm

i M IR P WA EEH MEERES

Fision frea

Maximum winding Maximum service ﬁi
(zm?}

numbar Bressurs Weight
Push the side  Pullsids min[r. p. m. | Mpajkgiiom? | [kg }
310 274 8000 3.5(35) 29 E{/UNT:mm

i 2 R e
477 428 8000 3.5(35) 34 E““'} Area iTH Maximum winging AAmm
jamt ) numbar oressurs Walght (kg)

754 705 5500 3.6(35) ; 19 P 1 minlr-p.m. | Mpaisgticm!

1196 125 5500 3.5(35) 6.8 77.0 74.4 0.8 (8 4.5
1736 1577 4000 4.0040) 11.5

3100 2863 4000 4.0{40) 0.4

131.2 124.7 0.8 {8) 5.2

2254 2180 0.8 (8 85

[ E G K M 2.p 3788 369.3 0.8 (8 14.5

ma

L] 30 M12x30 6-Max16

a0 Mi6x30  B-MBx16
25 M20x35  B-M10x20 123175 B-MRE 16
25 M24xdd  B-M12:20 . M16x2.0 B-MBx16
25 MI0xdS  1ZM12624 54
as Magx60  12-Mi2x24 37

M16xZ.0 G-M10x18

M20x2 5 6-M12220




